BN G (T

—. EHTH
L. KR Bh RN 10 438, WIorEr#ad ol Esege ¢ D
A Z B, - X c. & I
3 3 5 5
2. tan600° MIfEAZ )
A. -? B. g C. -3 D. V3
3. WERANEA, sin(r+A)=-—, BAcos(z-4)= C )
a L B. 1 . B3 oo 3
2 2 2 2

4, Wa RE=. WRRA, sina:24m_3, T m BB TGEE 0
—m

A\ (_1,1) B\ (_15 l) C\ (_1) E) D\ |:_1 zj
2 2 2

R AL y =sin(ox + @) (x e R,w > 0,0< @< 27) B o B R Wi, W ¢ )

Vid /4
A o=—,p=—
2 v 4
/4 4 £
B. w=—,p=— 1
377% /F‘\
Vid /4 0 .
PR L
/3 5
D. o=~,p=—
4 Y 4

6. & XAER ERIHR AL £ GO f (0 =f (x+2), 24 x€[3, 51N, f(x)=2-|x-4/,
e CuD

(M) F(sinZ)<F(cos ™)
6 6
(B) f(sinl)>f(cosl)
(B) f(coszTﬂKf(sinzTﬂ.)
() (D) f(cos2)>f(sin2)
—. EHFH
PR y = 3sm(2x+—) 5y Wil S s re

8. a%n—as)csg, IEES y=2sin(2x+%)—1waiwa

9. CHMEREL £ (x) FE[0.2]) N HUIEIK, £ a = f(-1), b= f(logIZ , ¢ = f(1g0.5),



Wa- b+ ctERBVNATFHSI N c>adb
=. BREB
10V 5 SCAE [-L1] BB B8 2 y=f(x) 2 Bk R B, H 2 & KA,

f@a*—a-1)+ f(4a—-5)>0, REHq KITEH.

11, BRT x BIREL y =2cos> x—2acos x—(2a+1) WiAMEN f(a):
(D Ha B f(a) FIRIEL;

(2) RHE f(a ):%H‘Ja@, S B [ a3ty 1B KA



BN G (1)

Lo Rkt 10 08k, W BHHE K5I K A

A E B, -Z c. & D, - %
3 3 5 5

2. tan600° fA{EZ D
A. —ﬁ B. ﬁ C. =3 Di /3

3. MR A NBIA, sin(7z+A)=—%, A cos(r—A) = C

A\ _l B\ l C\ _ﬁ D\ \/g
2 2 2 2
N Sp — . 2 - -
1 Wa HZ. NGRS, sina =" 3 A m B C
—m
A, (—1, 1) B. (—1, l) c. (=1, 3) Dy |-12
2 2 2

5. B3y =sin(wx + @)(x e R, >.0,0 < ¢ < 27) ] ¥
N 1
WorEgmE, oo /F‘\

T T T T 0 a

A a):—, = — B a):—’ = — 1 3 X
277, 3775 e
T T T Sz

C. a):_, = — D, a):—’ = ——
4 o 4 4 J 4

6. & XAE ROE PR £ ) 3 e f (x)=f (x+2), 4 x € [3, 510, f(x)=2-|x-4],
D

(D). f(sinZ)<f(cosX)
6 6
(B) f{sinl)>f(cosl)
(E) f(coszTﬂKf(sinzTﬂ)
(F) (D) f(cos2)>f(sin2)
8. Hi¥y= 3sin(2x+%)5 y BUEE BT AR FR AL B4k x :%

8. a%n—%s)cs%, IS y=2sin(2x+%)—lﬁ‘]1ﬁiﬁwﬂ

9\ CRUBEREL £ (x) £ [0,2] W HRIILIL, #7a = f(-1), b= f(log, i) , ¢ = f(1g0.5),

2

Ma. b ciBHRBVNUFHSI N coadb



10, & XA [-L1) B8R 2 y=7F(x) & % ek 2, H 2 & R 3,

f@a*—a-1)+ f(4a—-5)>0, REHq KITEH.

2

)

11, BRT x BIRE y =2cos> x—2acosx—(2a+1) WE/IMEN fla).
(D Ha B f(a) KRB

(2) RHE f(a ):%H‘Ja@, Sk i SRty (8

11, (1) f(a)=

2

-2<a<?

a>?2
a< -2

(2) a=-Ly,, =5



